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1. When can the man expect to see Professor Wilkins?

A. On Tuesday. B. On Thursday. C. On Wednesday.
2. How will the woman go to the hotel?

A. By plane. B. By taxi. C. In the man’s car.
3. What’ s the flight number?

A. CA 356. B. CA 530. C. CA 536.
4. What are the two speakers talking about?

A. A fine boat. B. The weather. C. Their friend Tom.

5. What do we know about the concert?
A. Many famous groups will perform at the concert.
B. It" 1l be held in the music hall tomorrow evening,

C. Tickets are not necessary for the concert.
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6. What does the woman invite the man to do?

A. To go hiking. B. To gol shopping. C. To go on a walk.

7. Why won’t they go out on Saturday?

A. Because the man had a date.
B. Because the man had to move to a new flat that day.

C. Because the man’ s sister need him to help her moving.

e 7 BHE,EIEER E 10,
8. Where are the speakers going to meet?

A. At the party. B. At Peter’s. C. At the bus stop.
9. What won’t they take to the party?

A. Some games. B. More records. C. Balloons.



10. What time will the party begin?
A. At 8.00 sharp. B. About 8:20. C. After 8.30.
Wk 8 MK EEE 11 E 13 A,

11. What’s the relationship between the two speakers?

A. Classmates. B. Colleagues. C. Coach and player.
12. What are the girl' s strengths?

A. Physical education, English and science.
" B. Physical education, business and science.
C. Science,business and computer.
13. Which of the fields does the girl intend to go into?

A. Science. B. Medicine. C. Sports.
o BMs, mER 14 £17 B,
14. How long should the man spend if he takes the underground?

A. 35 minutes. B. 45 minutes. C. 55 minutes.
15. How often do the buses run?

A. Every 5 minutes.

B. Every 15 minutes.

C. Every 20 minutes.

16. Which one is the cheapest?

A. The bus.
B. The underground.
C. The taxi.

17. Where does the man most probably live?
A. In the suburb of London.
B. In the center of London.
C. Near a railway station.

UréE 10 Bedt el , mEE IS Z20/,

18. What does the speaker often do exactly?

A. Travelling abroad. ) -
B. Selling goods.

C. Marketing research.

19. Why does the speaker ask people questions? /
A. Make friends.
B. Sell more goods.
C. Find out what they think.
20. What makes a good company?
A. Active people.
B. Good products.

C. Many customers.
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1. How long haven’t the two persons met each other?

. A. For more than six months. B. For a year. C. For more than a year.
2. What are the speakers talking about?
A. Some little kids. B. Some toys. C. A basket.

3. What does the woman suggest the man do?

A. Borrow some money from his uncle.

B. Not borrow money from his uncle.

C. Try to borrow money from his aunt.
4. When does the bus leave on Saturdays?

A. At 6.00. B. At 6.30. C. At 7.30.
5. What can you learn from the conversation?

A. The man will have to return the book to the woman.

B. The man has already returned. the book to the woman.

C. The man will keep the book for some time.
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6. When is Judy’s birthday?

A. The next day. B. The day after next. C. The day they had the talk.
7. What will the man and the woman buy for Judy?
A. A record. B. Some flowers. C. A box of chocolate.

Wi 7 BAEL EEES E10M,
8. Where does this conversation most probably take place?

A. At home. B. In an office. C. In a classroom.
9. How many cities in China have banned smoking in public places?

A. 20. B. 26. C. 60.




10. What can we learn from the conversation?
A. There are more active smokers in China than passive smokers.
B. In developed countries, 16 million people die every year from smoking.
C. Because China is a developing country, we should cut expenses on medical care.
WESEME EEFEI EI3E,
11. Whom does the woman speak to?
A. A tour guide. B. A taxi driver. C. A shop assistant.
12. What season is it?
A. Spring. . B. Summer. C. Winter,
13. What is the weather like in summer in San Francisco?
A. Hot. B. Warm. C. Rainy.
WTEE 9 BAHHE, mER 14 16 H,
14. How will Peter and his wife spend their holiday this year?
A. To go to Egypt.
B. To stay at home to look after everything.
C. It remains to be decided.
15. What is the advantage of travelling by sea, according to the woman?
A. One can have a comfortable journey.
B. One can enjoy the beautiful scene of the sea.
C. One can have a better rest during the voyage.
16. What is the main concern of Peter’ s wife about a trip to Egypt?
A. How long the trip would take.
B. How much a round-trip ticket would cost.
C. Who’s going to look after everything at home.

WreE 10 RAFEL EEE 17 Z20 8,
17. What was the speaker’ s job before he was 10 years old?
A. Washing plates. B. Shining shoes. C. Clearing tables.

18. What was one of the requirements laid down by the boy” s father?
A. He must work six days a week, v
B. He must study hard in his spare time.
C. He should never be late for work.
19. What did the boy ask his father to do one day?
A. To pay him for his work.
B. To give his friends free drinks.
C. To allow him to have more free time.
20. Why did the boy’ s father refuse to pay him?
A. Because the boy had made some mistakes.
B. Because he thought it was his son who should pay him.
C. Because he thought the boy had failed to meet his requirements.
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1. What does the woman want to do now?

A. She wanis to listen to jazz music.
B. She wants to have something to drink.
C. She wants to listen to both classical music and jazz music.
i 2. Why didn’t Jack get the hook?
A. He didn’ t want to borrow the book.
B. There wasn’ t such a book in the library.
C. He was too busy to go to the library.
3. What is the man doing?
A. He is buying a plane ticket to Europe.
B. He is sending some postcards.
C. He is asking about his mail.
4. When will Mr. Brown have to be at the airport?
A. At least 8.30. B. At least 9:30. C. At least 10.30.
5. Who will call on Tom this evening?
A. Betty and her sister.
B. Tom’s sister and Betty.
C. Betty and the man.
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6. What does the man think of the weather?

A. It makes people excited.

B. It makes people unpleasant.
C. It makes people comfortable.
7. Why does the man want to go out regardless of the weather?




A. He has to do some shopping.
B. He has to do some cleaning.
C. He has to do some work.

8. What’s the man’s attitude toward winter?

A. He has exercise in the moming in winter.
B. He likes winter very much.
C. He dislikes winter.
Wy sE 7 b, 155 9,10 M,
9. What happened to Bob?
A. He was badly ill.
B. He had his legs broken.
C. He was hit by a car.
10. How soon will Bob get recovered?
A. In about two weeks’ time.
B. In about three weeks’ time.
C. In about a year.
WrsE 8 B e, EIEE 11 E 13 8,
11. What will the man do the next morning?
A. Visit the National Lab.
B. Meet Howard Beckerman.
C. Meet Mr. Centurion.
12. What do we know about the woman?
A. She is a business manager.
B. She is the man’s wife.
C. She is a company secretary.
13. How will the man spend his Saturday? : ]
A. Taking some rest.
B. Playing baskethall. F
C. Meeting some visitors. _ -
WSk 9 B#tel, B 14 Z 16 8,
14. When was the woman’s house broken into?
A. Before 12.
B. After 1:30.
C. Between 12 and 1,30.
15. Who’s the man?
A. A policeman.
B. The woman’s husband.
C. The woman’s neighbor.
16. What can we learn from the conversation?

A. The woman’s jewelry was all stolen.

|




B. The woman's good jewelry was not stolen.

C. Most of the woman’s good jewelry was stolen.
WrsE 10 B, EE SR 17 E 20 M,
17. Where does the speaker’s friend live now?

A. In Atlanta. B. In Chicago. C. In San Francisco.
18. What is the speaker?

A. An office manager.

« B. A doctor.

C. An artist.
19. How often do the two friends talk on the phone?

A. Twice a month. B. Once a day. C. Once a week.
20. In how many ways does the speaker keep in touch with her friend?

A 2. B. 3. C. 5.
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1. What is the probable relationship between the two speakers?

A. Teacher and student.
B. Doctor and patient.
C. Manager and worker.
2. What do we know about Susan’s office?
A. Tt needs flowers.

B. It is close to a park.
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C. It is close to a flower shop.
3. What will the man do this afternoon? '

A. He will make a form for the woman.

B. He will lend his forms to the woman. i
C. He will help the woman fill out the forms. [
4. Why does the woman show interest in the bookstore?
A. She works in a bookstore.
B. She loves 2 man in the store.
C. She sold cookbooks years ago.
5. What are the speakers worried about?
A. The game might be put off.

B. It might rain during the game.
C. There might be less fun in the match.
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6. What are the speakers talking about?
A. Watching a football game.
B. Going out to dinner tonight.
J— 8 J—




C. Borrowing books in the city library.
7. What won’t the woman probably do tonight?
A. Have supper.
B. Watch the football game.
C. Go to the city library.
W7 BaEL EER8 E10M,
8. Why does the man want to buy some appliances?
A. Because the kitchen has been repainted.
B. Because something is wrong with the appliances.
C. Because the appliances in use are not modern any more.

9. Which of the following appliance is not mentioned by the man?

A. Dishwasher, B. Washing machine. C. Microwave oven.

10. What can we learn from the conversation?
A. The man has enough money to pay for all the items.
B. The man will be better off in the future.
C. The man may be given a discount.

Wrip 8 BbPH, EIEE 11 E 13 &,
11. How many times has the woman been sailing before?

A. Twice. B. Once. C. Never.
12. How will the woman pay for her trip?
A. By cheque. B. By credit card. C. With cash.

13. What can we learn from the conversation?
A. They are talking about their travel experience.
B. The woman is going to climb mountains.
C. The man is planning a trip for the woman.
W o Bbtel, mEE 14 E16 &
14. Where does this dialogue probably take place?
A. In the car. B. In the street. C. At the airport.
15. What’ s the weather like in Boston now? ’
A. It’ s very cold.
B. It’ s very warm.
C. It is neither too cold nor too warm.
16. What will they do after they arrive at the man’ s house?
A. They will have Junch.
B. They will go swimming.
C. They will get down to business immediately.
W4 10 Bt , B 17 2 20 B,
17. What does a man intend to do when he tells a story?
A. He may want to make people believe the facts.

B. He may want to make people doubt the facts.




C. He may want to make people feel happy or sad, or think.
18. What makes a story live?
A. The facts of the story.
B. The human interest of the story.
C. The language of the story.
19. How many copies of the English novelist’ s new book had already been sold?
A. 1,000 copies. B. 1,010 copies. C. 10,000 copies.
20. When did the English novelist have a meal with his American friend?
A. When they first met in the publishing house.
B. When all the copies of the new book had been sold.
C. Four or five weeks after the new book was published.

— 10 —
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1. On what day will they meet?

A. 18th Oect. B. 21st Oet. C. 22nd Oct.
2. What are they going to do?
A. To buy some food. B. To wait for a taxi. C. To take a train.

3. How will the man probably go downtown?

A. By taxi. B. By bus. C. On foot.
4. Why is Ann so upset?

A. Because she failed in one of the exams.

B. Because she has no time to prepare the exam.

C. Because she is worrying about the coming exam.
5. What does the womar mean?

A. She must learn to understand Jack’s humor better.

B. She doesn’t appreciate Jack’s humor.

C. She enjoys Jack’s humor a great deal.
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6. In what way will the man call?

A. Using a calling card. B. Through the operator. C. Using the local call.

7. What’ s the country code for China in calling?

A. 86. B. 01. C. 10.

8. What can we learn from the conversation?

A. The man changed his mind of calling way.
B. Using a calling card makes no difference:
C. The man calling Beijing needn’t dial O1.
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9. What does the woman advise the man to do?
A. Take some aspirin and keep warm.
B. Not go to the places she used to go.
C. Take some clothes for the cold climate.

10. Where is Canada to the speakers’ country?

A. South. B. North.
LB RN AXE 11 E 138,

11. How many American writers have they mentioned?
A 5. B. 4.

12, When did Jack Londen go te Canada?
A. In 1916. B. In 1876.

13, What is the man mainly talking about?
A. American culture. B. Jack London’s books.

Wreg o BM M, EEE 14 E 16 &,
14, What was the name of the man?
A. Dick. B. Davy.
15. What kind of people didn’t they need?
A. Those who knew ro foreign language.
B. Those who wanted to work 30 hours a week.
C. Those who had no experience in office work.
16. Who will get a higher pay?
A. Those who are well educated.
B. Those who have much experience.
C. Those who can speak a second language.
WreE 10 Bt e, EESE 17 £ 20 @,
17. Why didn’t Mark and Dan go sailing together?
A. Mark would like to go with John.
B. Mark was in some other place.
C. Dan was in some other place.
18. What were they worrying about?
A. They would lose their way in the sea.
B. They would be hit by a big ship.
C. Their boat would be turned over and sink.
19. Where did Mark have to stay for the night?
A. In the boat. B. In the ship.
20. What was Mark doing when the ship came to his help?
A. He was having a bad dream.
B. He was shouting for help.
C. He was having breakfast.
— 12 —

C. East.

C. In 1897.

C. Jack London’s life.

C. David.

C. On the buoy ( #475).
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1. What does Mr. Smith plan to do at 10 o’ clock tomorrow morning?

A. To go to hospital. - B. To meet James Chen. C. To attend a meeting,
2. How often does the man play basketball?

A. Every week. -B. Twice a week. C. Every month.
3. What is the probable relationship between the two speakers?

A. Teacher and student. B. Doctor and patient. C. Hushand and wife.
4. When did the man get to the park?

A. At 11:00. B. After 11.00. C. Before 11:00.

5. What do we learn from the conversation?
A. The man is planning a trip to Austin.
B. The man has not been to Austin before.

C. The man has been to Austin before.
W (IS /NE;ENE .5 5, # S 22.58)
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6. Where was Jackie yesterdiay?
A. In the cinema. B. In his office. C. At home.
7. Which of the following didn’t Jackie do yesterday?
A. Looking after the baby. B. Going outing. C. Repairing his bicycle.

8. What did the woman think that Jackie didn’t go to the cinema?

A. Tt was wonderful. B. It was a pity. C. It was wrong.
Wrsg 7 B BIEEI E11E,
9., Where does this conversation most probably happen?

A. At a gas station. B. At the woman's house.  C. At a shopping mall.
10. When does this conversation probably take place?

A. In the early momning.  B. Nearly midnight. C. In the afternoon.
— 13 —




